[image: image1.png]. A movie scene has a car fall off a cliff. If the

car took 5.5 s to reach the ground, how high
was the cliff?

. If the car in Problem 20 had an initial hori-

zontal velocity of 26 m/s, how far from the
cliff bottom did the car land?

. A bullet is shot horizontally from a gun. If the

bullet’s speed exiting the muzzle is 325 m/s and

the height of the gun above the ground is 2.0 m,

a) how long was the bullet in the air?

b) how far did the bullet travel horizontally
before it hit the ground?

. A tennis player serves a tennis ball from a

height of 2.5 m. If the ball leaves the racket
horizontally at 160 km/h, how far away will
the ball land?



[image: image2.png]24. A pitcher throws a baseball at 140 km/h. If
the plate is 28.3 m away, how far does the ball
drop if we assume the ball started travelling
toward the plate horizontally?

25. Two pennies are sitting on a table 1.2 m high.
Both fall off the table at the same time, except
one is given a significant push. If the pushed
penny is moving at 4.1 m/s horizontally at the
time it leaves the table,

a) which penny lands first?
b) how far from the table does the pushed
penny land?

26. For Problems 22 to 24, calculate the final
velocity of each projectile.

27. A plane is flying horizontally with a speed of
90 m/s. If a skydiver jumps out and free falls
for 10.6 s, find
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a) how far the skydiver falls.

b) how far the skydiver moves horizontally.
¢) the final vertical velocity of the skydiver.
d) the final velocity of the skydiver.

A plane flying level at 80 m/s releases a pack-

age from a height of 1000 m. Find

a) the time it takes for the package to hit the
ground.

b) the distance it travelled horizontally.

¢) the final velocity of the package.




Projectile Motion





ANSWERS


20) 1.5 x 102 m


21) 1.4 x 102 m


22)	a) 0.64 s


	b) 2.1 x102 m


23) 32 m


24) 2.60 m


25)	a) land at same time


	b) 2.0 m


26) 	a) 3.3 x 102 m/s [R1.1D]


b) 45 m/s [R9.0D]


c) 40 m/s [R10D]


27) 	a) 5.50 x 102 m


	b) 9.5 x 102 m


	c) 1.00 x 102 m


	d)1.3 x102 m/s [R48D]


28)	 a) 14.0 s


	b) 1.1 x103 m


	c) 1.6 x102 m/s [R60D]








